语法翻译题库(经典100句/定语从句)
Q105 将政府的资金用于污染清理工作，这可以创造一个舒适的环境。
点击查看答案解析:[image: image1.png]



Q106 有些广告鼓励消费者买一些自己不需要的东西，应该对其加强管制。
点击查看答案解析:[image: image2.png]



正确的句子结构：
It  is necessary to put/impose restrictions on those advertisements  which encourage people to buy more than they  need/can afford.
句子结构分析：
It          is          necessary    to put/impose restrictions on those advertisements
形主 系动词   表语                                         主语
 which encourage people to buy more than they need/can afford.
                             定语从句
学生错句：
It is necessary to put regulation on some advertisements that endorse consumer to buy things which they don’t need.
解释：
1 regulation 是可数名词，不要裸奔，应该用复数形式。consumer 也是。
2 endorse: to express formal support or approval for someone or something. If a famous person endorses a product or service,they say in an advertisement that they use and like it .是正式支持或者代言的意思，在这里不符合句意。
3 不要用缩写
 
题目讨论
Q107 这有助于提高空气质量，从而降低了得一些疾病的风险，比如呼吸道疾病。
点击查看答案解析:[image: image3.png]



正确的文章：
 This can help to improve air quality, which can reduce the risk of suffering health problems such as
 respiratory/contract diseases. 
句子结构：
 This   can help   to improve air quality,  which can reduce the risk of suffering health problems such as
主语    谓语                      宾语                                               非限制性定语从句
 respiratory/contract diseases. 
  非限制性定语从句
学生错句1：
This is helpful for improving the air quality ,which can decrease the risk of some health problems ,such as the respiratory problems.
解释：
1it is helpful to do sth是表示做什么事会有帮助，而不是有利于...可以说helpful in doing something，就是指对什么事有帮助。
2 air quality 不用特指。
3 可以说 respiratory diseases, 注意表达的多样性，而且不要用定冠词
 
学生错句2：
This can help improve air quality, which reduce risk of some diseases such as respiratory diseases.
解释：
1 注意主谓一致，reduces
题目讨论
Q108 当局应该控制这些夸张报道社会问题的新闻。
点击查看答案解析:[image: image4.png]



正确的句子：
Authorities should censor those news reports/coverage which give an exaggerated account of some social problems.
句子结构分析：
Authorities     should censor    those news reports/coverage   
   主语                   谓语                      宾语
which give an exaggerated account of some social problems.
定语从句
学生错句：
The government should restrainthese news which exaggerating about the social problems
解释：
1 news是不可数名词，前面不要加those，正确表达应该是 news reports, news headlines,a piece of news.
2 which 引导的非限制性定语从句没有谓语，动名词形式不能做谓语。
3 exaggerate 是及物动词，后面不用加介词about. social problem 不需要特指。
4 restrain: to stop someone from doing something,often by using physical force.譬如说restrain criminals. 不符合语境。
题目讨论
Q109 这就是为什么如今的文员经常有健康问题的原因。
点击查看答案解析:[image: image5.png]



正确的句子：
 It  is the reason why many clerical/white-collar workers today suffer/experience/develop.
句子结构分析：
 It          is               the reason     why many clerical/white-collar workers today suffer/experience/develop
形主 系动词             表语                                     定语从句
 health problems.
 定语从句
替换表达：
suffer poor health
suffer ill health
解释：
clerical:relating to office work, especially work such as keeping records or accounts.
 
学生错句：
This is why administrative worker usually have health problems in modern times.
解释：
1 administrative: relating to the work of managing a company or organization, 是管理一家公司或者机构的意思，跟文员没关系。
2 主谓不一致，应该是workers.
 
题目讨论
Q110 许多员工愿意在那些可以获得晋升机会的公司工作。
点击查看答案解析:[image: image6.png]



正确的句子：
Many employees are willing to work for companies where they can obtain promotional opportunities.
句子结构分析：
Many employees    are willing to   work for companies     where they can obtain promotional opportunities.
          主语                    系动词+表语                            补语                                                     定语从句
学生错句1：
Numerous employees are likely to work in these companies which could gain promotional opportunities.
解释：
1 远指不要用these,用those 指代会比较好。
2 限制性定语从句先行词是 company，语意错误，是员工能在公司里得到晋升机会，而不是公司得到晋升机会。
 
学生错句2：
Many employees are willing to work for the companies where provide the opportunities for promotion.
解释：
where后面缺主语
题目讨论
Q111 许多年轻人选择在英文国家学习，在那里，他们可以在世界著名的大学学习。
点击查看答案解析:[image: image7.png]



正确的句子结构：
Many young people have chosen to study in English-speaking countries, where they can study at some world famous /leading/renowned universities.
句子结构分析：
Many young people    have chosen to study    in English-speaking countries, 
主语              谓语  宾语       状语
where they can study at some world famous /leading/renowned universities.
               定语从句
学生错句1：
Many young people choose to study in English-speaking countries where they can be admitted into world famous universities.
解释：
1 where 放在句中引导的限制性定语从句改变了句子的意思，变成了“许多年轻人只去那些可以让他们进入世界著名大学学习的英文国家学习“。
2 be admitted into: to join an organization ,club，单纯指进入，没有学习的意思。
 
学生错句2：
Many youngsters choose to study in English-speaking countries where they can study in renowned universities.
解释：
不建议用youngster
